

$$\lceil \triangleleft_{\Lambda}^c \rceil = \frac{\lceil \ni_{\lambda} \rceil \rightsquigarrow}{\bigwedge_U \bigvee_{\lambda} \bigwedge_{\mu: \nu \geq \lambda} \mu \rceil - \nu \rceil \in U}$$

$$\lceil \triangleleft_{\Lambda}^{\ell} \rceil = \frac{\lceil \ni_{\lambda} \rceil \rightsquigarrow \infty \rceil}{\bigwedge_U \bigvee_{\lambda} \bigwedge_{\mu \geq \lambda} \mu \rceil - \infty \rceil \in U}$$

$$\lceil \triangleleft_{\Lambda}^{\omega} \rceil = \frac{\lceil \ni_{\lambda} \rceil \rightsquigarrow 0}{\bigwedge_U \bigvee_{\lambda} \bigwedge_{\mu \geq \lambda} \mu \rceil \in U}$$

$$\lceil \ni_n \rceil \rightsquigarrow \infty \rceil \Leftrightarrow \bigwedge_{\varepsilon} \bigvee_{n_0} \bigwedge_{n}^{>0 \mathbb{N} \geq n_0} \overline{\lceil n \rceil - \infty \rceil} \leq \varepsilon$$

$${}_n \rceil \rightsquigarrow \infty \rceil \xrightarrow[\text{rule}]{\text{sum}} {}_n \rceil + {}_n \rceil \rightsquigarrow \infty \rceil + \infty \rceil$$

$$n \geq [\varepsilon: \cdot \rceil] \vee [\varepsilon: \cdot \rceil] \Rightarrow \overline{\lceil n \rceil + {}_n \rceil - \infty \rceil + \infty \rceil} = \overline{\lceil n \rceil - \infty \rceil} + \overline{\lceil n \rceil - \infty \rceil} \stackrel{\text{trans}}{\leq} \overline{\lceil n \rceil - \infty \rceil}^{\leq \varepsilon} + \overline{\lceil n \rceil - \infty \rceil}^{\leq \varepsilon} \leq 2\varepsilon$$

$$\left\{ \begin{array}{l} a_n \rightsquigarrow a \\ {}_n \rceil \rightsquigarrow \infty \rceil \end{array} \right. \xrightarrow[\text{rule}]{\text{prod}} a_n \cdot {}_n \rceil \rightsquigarrow a \cdot \infty \rceil$$

$$\bigvee_M \bigwedge_n^{>0 \mathbb{N}} \overline{\lceil n \rceil} \leq M$$

$$\bigwedge_{\varepsilon} \bigvee_{n_0} \bigwedge_n^{>0 \mathbb{N} \geq n_0} \overline{a_n - a} \leq \frac{\varepsilon}{M + \overline{\lceil \infty \rceil}} \geq \overline{\lceil n \rceil - \infty \rceil}$$

$$\begin{aligned} \overline{a_n \rceil - a \infty \rceil} &= \overline{\lceil a_n - a \rceil \cdot {}_n \rceil + a \cdot \lceil n \rceil - \infty \rceil} \leq \overline{\lceil a_n - a \rceil \cdot {}_n \rceil} + \overline{a \cdot \lceil n \rceil - \infty \rceil} \\ &= \overline{a_n - a} \cdot \overline{\lceil n \rceil} + \overline{a} \cdot \overline{\lceil n \rceil - \infty \rceil} \leq \frac{\varepsilon}{M + \overline{\lceil \infty \rceil}} M + \overline{a} \cdot \frac{\varepsilon}{M + \overline{\lceil \infty \rceil}} = \varepsilon \end{aligned}$$

$${}_x \mathbb{1} \rightsquigarrow a \quad {}_x \mathbb{1} + \acute{a} \quad {}_x \mathbb{1} \rightsquigarrow$$

$$\bigwedge_U^u \bigvee_V^u aV + \acute{a}V \subset U \Rightarrow \bigvee_{\dot{\lambda} \in \Lambda} \bigwedge_{\mu: \nu \geq \dot{\lambda}} \mu \mathbb{1} - \nu \mathbb{1} \in V \Rightarrow \bigvee_{\Lambda \ni \varkappa \geq \lambda: \dot{\lambda}} \Rightarrow \bigwedge_{\mu: \nu \geq \varkappa}$$

$$\underline{a_\mu \mathbb{1} + \acute{a}_\mu \mathbb{1}} - \underline{a_\nu \mathbb{1} + \acute{a}_\nu \mathbb{1}} = a \underline{\mu \mathbb{1} - \nu \mathbb{1}} + \acute{a} \underline{\mu \mathbb{1} - \nu \mathbb{1}} \in aV + \acute{a}V \subset U$$

$${}_x \mathbb{1} \rightsquigarrow {}_\infty \mathbb{1} \Rightarrow {}_x \mathbb{1} \rightsquigarrow$$

$$\bigwedge_U^u \bigvee_V^u V - V \subset U \Rightarrow \bigvee_{\lambda} \bigwedge_{\mu \geq \lambda} \mu \mathbb{1} - \infty \mathbb{1} \in V \Rightarrow \bigwedge_{\mu: \nu \geq \lambda} \mu \mathbb{1} - \nu \mathbb{1} = \underline{\mu \mathbb{1} - \infty \mathbb{1}} + \underline{\infty \mathbb{1} - \nu \mathbb{1}} \in V - V \subset U$$

$${}_x \mathbb{1} \rightsquigarrow {}_\infty \mathbb{1} \Rightarrow a \quad {}_x \mathbb{1} + \acute{a} \quad {}_x \mathbb{1} \rightsquigarrow a \quad {}_\infty \mathbb{1} + \acute{a} \quad {}_\infty \mathbb{1}$$

$$\bigwedge_U^u \bigvee_V^u aV + \acute{a}V \subset U \Rightarrow \bigvee_{\dot{\lambda} \in \Lambda} \bigwedge_{\nu \geq \dot{\lambda}} \nu \mathbb{1} - \infty \mathbb{1} \in V \Rightarrow \bigvee_{\Lambda \ni \mu \geq \lambda: \dot{\lambda}}$$

$$\Rightarrow \bigwedge_{\nu \geq \mu} \underline{a_\nu \mathbb{1} + \acute{a}_\nu \mathbb{1}} - \underline{a_\infty \mathbb{1} + \acute{a}_\infty \mathbb{1}} = a \underline{\nu \mathbb{1} - \infty \mathbb{1}} + \acute{a} \underline{\nu \mathbb{1} - \infty \mathbb{1}} \in aV + \acute{a}V \subset U$$

$${}_x \mathbb{1} \rightsquigarrow {}_\infty \mathbb{1} : a_\lambda \rightsquigarrow a \Rightarrow a_\lambda \quad {}_x \mathbb{1} \rightsquigarrow a \quad {}_\infty \mathbb{1}$$

$$\mathbb{L} \text{ treu} \Rightarrow {}_{\lambda} \mathbb{L} \simeq \dot{\mathbb{L}} \Rightarrow {}_{\infty} \mathbb{L} = {}_{\infty} \dot{\mathbb{L}}$$

$$\bigwedge_U^u \bigvee_V^u V - V \subset U \Rightarrow \bigvee_{\lambda \in \Lambda} \bigwedge_{\mu \geq \lambda} {}_{\mu} \mathbb{L} - {}_{\infty} \dot{\mathbb{L}} \in V \Rightarrow \bigvee_{\Lambda \ni \nu \geq \lambda: \dot{\lambda}}$$

$$\Rightarrow \bigwedge_{\mu \geq \nu} {}_{\infty} \mathbb{L} - {}_{\infty} \dot{\mathbb{L}} = \underbrace{{}_{\infty} \mathbb{L} - {}_{\mu} \mathbb{L}} + \underbrace{{}_{\mu} \mathbb{L} - {}_{\infty} \dot{\mathbb{L}}} \in -V + V \subset U \Rightarrow {}_{\infty} \mathbb{L} - {}_{\infty} \dot{\mathbb{L}} \in \bigcap \mathcal{U} = 0 \Rightarrow {}_{\infty} \mathbb{L} = {}_{\infty} \dot{\mathbb{L}}$$